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#include <stdio.h>
#include <string.h>

int main(int argc, char *argv[]) {//4MARBASEH
if (argc != 4) {//BAZEASH, FHAE-ARBEFACHERK
printf("what?\n");
exit(1);
¥

unsigned int first = atoi(argv[1l]);

if (first != excafe) {//F—A"SHH+ Nk ANoxcafe
printf("you are wrong, sorry.\n");

exit(2);

}

unsigned int second = atoi(argv[2]);

if (second % 5 == 3 || second % 17 != 8) {//B_-ASEWRFZMHROKEFL2, REESBAFIE, TRERERKE.
printf("ha, you won't get it!\n");

exit(3);

¥

if (strcmp(“"h4ckyou", argv[3])) {//BEASHEEMEHLckyou
printf("so close, dude!\n");

exit(4);

¥

printf("Brr wrrr grr\n");

unsigned int hash = first * 31337 + (second % 17) * 11 + strlen(argv[3]) - 1615810207;//iX B4 Ehash 5l
ASEER, BASNS, G—EEEREENMASHEERBXAE, 48, BRI aERSmRE.

printf("Get your key: ");
printf("%x\n", hash);
return 0;
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unsigned int hash = @xcafe * 31337 + (second % 17) * 11 + strlen(argv[3]) - 1615810207;
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